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$VVDODPX¶DODLNXP�ZDURKPDWXOODK�ZDEDURNDWXK

6HJDOD� SXML� GDQ� V\XNXU� SHQXOLV� XFDSNDQ� NHSDGD� $OODK� 6:7�� \DQJ� KDQ\D�

NDUHQD� UDKPDW� GDQ� NDUXQLD�1\D�� SHQXOLV� GDSDW� PHQ\HOHVDLNDQ WXJDV� DNKLU� LQL�

GHQJDQ�MXGXO�³2SWLPDVL�SHQDWDDQ�EDUDQJ�SDGD�JXGDQJ�SHQ\LPSDQDQ�EDUDQJ�

KDVLO�SURGXNVL�PHQJJXQDNDQ�DOJRULWPD�3DUWLFOH�6ZDUP�2SWLPL]DWLRQ��SVR�´�

\DQJ�PHUXSDNDQ�VDODK�VDWX�V\DUDW�XQWXN�PHQGDSDWNDQ�JHODU�VWUDWD�SURJUDP�VWXGL�

6LVWHP�.RPSXWHU�8QLYHUVLWDV�7HONRP��%DQGXQJ�

3HQXOLV�PHQ\DGDUL�EDKZD�PDVLK�EDQ\DN�NHNXUDQJDQ�\DQJ�WHUGDSDW�GL�GDODP�

SHQJHUMDDQ�WXJDV�DKLU�LQL��2OHK�NDUHQD�LWX��SHQXOLV�PHQJKDUDSNDQ�VDUDQ�GDQ�NULWLN�

\DQJ�EHUVLIDW�PHPEDQJXQ�VHKLQJJD�NHGHSDQQ\D�GLKDUDSNDQ�WXJDV�DNKLU� LQL�GDSDW�

GLNHPEDQJNDQ� NH� DUDK� \DQJ� OHELK� EDLN� GDQ� GDSDW� EHUJXQDN� EDJL� SDUD� SHPEDFD��

NKXVXVQ\D�EDJL�GXQLD�GDQ�LOPX�SHQJHWDKXDQ�

:DVVDODPX¶DODLNXP�ZDURKPDWXOODK�ZDEDURNDWXK
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